Singapore Chinese Girls’ School (Primary)
Topical Test 3 : Multiplication and Division

ANSWER KEY

Name:
11. eaten 24
4 N S
? boxes
28 —4=24
24+3=8

Mrs Tan used 8 boxes.

)

Class:

12. Mona 4 friends
?
20
4+1=5
20x5=4

Each of them ate _4 chicken wings.




13.

COws

(@)

ducks

A

There are _5 ducks in the farm.

8x4 =32

8 cows have _32 legs.

10
42 -32=10
10 = 2=5
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SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
TOPICAL TEST4
UNIT(8-9) : LENGTH AND MASS

Name: _ (- )
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Section A (7 x 1 mark)
For each question, write your answer in the space provided.
Show your working clearly.

1. Study the picture.
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The length of the pencil is cm lc;nger the length of the
candy.
2. Use a ruler and measure the line AB below.
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The line AB is cm.




3. Look at the diagram below carefully.
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The total length of the fork and the key is cm.

4. The chart below shows the height of 4 pupils.

Name Height
Colin 129 cm
Esther 137 cm
David 152 cm
Susan 131 em
David is taller than the,s’ﬁor’test pupil by cm,




6. Look at the diagram below carefully.

Given that the mass of the box of flour is 3 kg, the mass of

one packet of sugar is kg.

7. Study the diagram below.

3kg 2kg | 2kg

The total mass of




Section B(13 marks)
Questions 8 to 10 carry 3 marks each. Question 11 carries 4 marks.

Show your workings clearly.

8. Jack had 9 parcels. After using 3m of string to ﬁe each of the
parcels, he had 25m of string left. What was the length of the
string at first?

The length of string was m at first.

9. Arunning track was 500m long. Amy ran for 190m and jogged for
135m. Then she continued to walk to complete the rest of the
running frack. How far did Amy walk to complete the running
track?

Amy walked m to complete the running track.




10. The total mass of a dictionary and a story book is 7889.. The
dictionary’ has a mass of 540g. How much heavier than the story
book is the dictionary?

The dictionary is g heavier than the story book.

11. David has a mass of 56 kg. He is 9 kg lighter than Max.
Max is 17 kg heavier than Sam.

(a) How heavy is Sam?

(b) Find the total mass of the three pupils.

The total mass of the three pupils is kg.
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Section A

Q1) 4cm

Q2) 7cm

Q3) (14 + 5)cm
Q4) 23cm

Q5) 7g

Q6) 2kg

Q7) 3kg
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